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Chose the correct answer for each of the following questions.

1- The total amount of stored energy in an LC series circuit is 16 J,
when the current through the inductor is equal to half its
maximum value, how much energy is stored in the magnetic field?
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A.80J
B. 607
C. 407
D. 207

2- When the switch of the circuit in the figure is closed, the current
and the voltage in the circuit oscillate over time. What is the
physical quantity represented by the y-axis in the graph?
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A. The current
B. The charge |
C. The energy stored in the electric field QEL
D. The energy stored in the magnetic field -/

Switch

3- In the LC circuit oscillations, when does the current reaches its
maximum value?

§oalanll alad Hlall dly e LC 3_pla &l )l el &

A. When the capacitor is fully charged

B. When the capacitor potential difference is zero.

C. When the energy stored in the electric field is maximum
D. When the energy stored in the magnetic field is zero.
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4- In the LC circuit oscillations, The current changes its direction
every ...
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A. Quarter of oscillation

B. Half of oscillation

C. One complete oscillation

D. The current does not change its direction at all

5- In the LC circuit oscillations, how many times does the capacitor
discharge every one oscillation?
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A. Four times
B. Three times
C. Two times
D. One time

6- Which formula represent the current induced in a circuit
containing a source of time-varying emf?
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A. i = L4, sin(wt + 0)
B. i = I,,qx sin(wt — 0)
C. i = Iu, cos(wt — Q)
D. i = V4 sin(wt — @)

7-What is the frequency of a time-varying emf sorce, if its emf is
given by this equation Ve, = 12 sin(250 t)?
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A. 40 Hz
B. 35 Hz
C. 22Hz
D. 12 Hz
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8-A time-varying emf sorce V,,, = 20 sin(30mwt) is connected in
series to 15 () resistor, what is the current through the resistor
at t=2.3x10% s?

Dl Sl e ¢15 () e gl aslie ae Vsl e Jsmse ¢V, = 20 sin(307 t) o g e gl jras
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'],;?'.l.
A 25 A
B. 20 A
C. 13 A v
D.11A emf
;

9-A time-varying emf sorce V., =12 sin(160t) is connected in
series to 6.0 () resistor, what is the maximum current in this
circuit?

Al Le ¢6.0 () 4inslie aslia po I sill o Jsase ¢ 1V, 0 = 12 sin(160 ) Ga il ga e 3eall jas
?B)S\ﬂ\ TS @ J\.ﬂﬂ L;;..asj\

A 20 A N

B. 25 A

C. 35A

D.40A Vs
O

10- The graph represent the voltage phasor through resistor at some
instant, what is the potential difference throw resistor at this
instant?
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A 12V 12V

B. 97V
C. 73V \0'7"

D. 5.6V
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11-What is the phase difference between the voltage and the
current through the resistor?

Tosiall e gaaiall Jlall 5 o gliall ye aeadl 38 Gn Hshll 58 L

A =T

B. &= -11/2
C. &=1/2
D. &= zero

12- How can the disipated power through the transmission lines
reduce?

9l da shad JA (pe sanual) ALl Jl5 Sy (i

By increasing the voltage to the highest possible value.
By reducing the voltage in the fransmision lines.

By increasing the current in the transmision lines.

By reducing the produced power.

N w>»

13- The transmission of electric power occurs at the highest
possible voltage to reduce losses. By how much could the power
loss be reduced by raising the voltage by a factor of 5.0?

seall g s AL ey (o3l 8L 3 ) o La ol QW (Sae den Sl tie Al s 8L i ke o
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A. It will reduce by a factor of 5

B. It will reduce by a factor of 10
C. It will reduce by a factor of 15
D. It will reduce by a factor of 25

14- A power station produces 12 MW of power and is fransported by
an electrical voltage of 450 KV.what is the disipated power in
transmission lines if they are 110 () resistance?

450 KV olaia Al 568 aga ddand o Jaill Jashad juo Lol dyg 12 MW W laie 400 5685508 ¢ 48l ddass i
$110 € e slia cilS 13) Jaall el 8 3oasal) 5508 ))aia L

A. 6.5x10* W
B. 7.8x10* W
C. 9.1x10* W
D. 9.6x10* W

i\
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15- In the ideal step-up transformer, which of the following is
correct?

e EOSRh FE PO I [ N (S PR

A. TpoLs.
B. Np>Ns.
C. Vs<Vp.
D. Pp<Ps.

16- In the ideal transformer, what is the ratio between the input
and the output power?

Q‘\_\A:\AJM‘B‘)JS]\L;‘\ dM\&u;\ﬂ\a‘)dﬂ\:\_\w@ucéu\ d};.d\@

A 13
B. 10
C. 0.6
D. 04

17-In the real transformer, why does the transformer core
construct by laminating layers of metal?

S Rl ik S8 e ) gy 3 el Sy 3

A. To reduce the efficiency of the transformer
B. To make the transformer lighter.

C. To reduce the lost power in the core.

D. To control the output voltage.

18- The power transfer between a source of emf and a device that
uses power is at a maximum when ...

o Ladie ol.mﬂuJJd...a:\chMDJMJLPJ@DJéM\JBﬁJMUyBJN\dsau‘\

A. The potential difference is the same in both

B. The impedance is the same in both

C. The Input current is larger than the output current
D. The output voltage is larger than the input one
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19- An ideal transformer cotatins primary coil with 120 furns, and
secondary coil with 70 turns, if the output current is 3.5 A what
is the input current?

JM\OAGJIAJ\JQSX\QLS\Aj‘453704;11_513_\9L;JJGQXAJRAJIZOGMJL&\AL)JL@M@J&J)M
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A T,=15A ﬁ

C. I,=35 A i i
D. I=60A o

20-An ideal transformer cotatins primary coil with 350 turns, and
secondary coil with 460 turns, if the secodary coil is connected
to a device has 12 () resistance, what is the effective resistance
of the primary circuit?

e s Galall Jua s 131 ¢ 48l 460 4l aae 5 5 Cile 441 350 asldl dae il Cile g ging Nie Jsaa
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Rp= 21 Q
Rp= 16
Rp= 9.7 Q
Re= 6.9 0

oo w>

=4 > d
21- In maxwell's law, $ B .dS = ,uoeod—: , what does the letter X
represent in this equation?

- N . . s . = - d - .
fAlaall 38 3 X i) i 13 § B L dS = ppg = dismSle 058 8

A. The magnetic flux

B. The electric field

C. The displacement current
D. The the electric flux
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22-In the figure, the electric field is increasing into the page plane,
and an induced magnetic field is produced as shown, what is the
direction of the induced magnetic field vector at point A ?

&b Omse s LS Tinione Llaling Yisa 4lsa 2l 58 dadiall (5 sia Jal olaily b jeSH Jlaal) 2l 3 (JS3N 4
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A. Up i‘- ; )

B. Down A
C. Into the page x x xfp
D. Out of the page & . . »

23-The figure shows a circular capacitor with charge increasin with
time, an an induced magnetic field created as loops, when does
the induced magnetic field disaprear?

1 dia of (Sa e cclils JS& e Tintiie Lusdaline Ylaa s ecpe 3l qe 5l i dindy il i JSEI el
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A. During the electric field increasing

B. When the rate of changing electric field is maximum
C. If the capacitor start discharging

D. When the capacitor becomes fully charge.

24-The figure shows two parallel plats capacitor while chagrged by
a fixed current i, in which part of the figure (A,B,C) does the
displacement current generate?

A5 (A,B,C) & (s o g gl (b ¢l Al eS L Aol gy iad oL Gingiiall (g3 sie liiSa S8 3 el

sy ke
CIincreasing
A. Part A
B. Part B
C. Part C
D. No displacement current in this case .
B
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25-Which of the following formulas represent the displacement

current ?
?Z\A\jlﬁ\ O e Al 3\*;41:\)3\ &\‘4}\ 95\
d(DE d‘PB d(DE d(pE
—_— C. Eg— B. —_— A Eg—
D. Up&p dt 0 4¢ Ho dt 0 at

26-Which of the following is in correct about the electromagnetic
waves?

Apnlalina 5 eI s gally Blay Lad ramaa e b Laa 6l

A. The microwaves is a type of the electromagnetic waves

B. The human eye can't see the ultraviolet radiation

C. The infrared radiation energy less than the red light energy.

D. Gamma rays has the longest wavelength compared to the other waves.

27-Which of the following is correct about the electromagnetic
waves?

Lplaling 5 e Cila galls 3lah Lasd ramaa b Lea (g

A. The magnetic field always in paralle to the direction of propagating
B. Cosist of two parallel electric and magnetic fields.

C. Can travel through the space only.

D. Can travel at the speed of light in the vaccum

28-What is the the frequency of an electromagnetic wave has
400 nm wavelength, traviling in the vaccum?

o1 Al A )i s 400 nm o> sall Led sh dnnlaling 5 ¢S 4a 50 20 5 98 L

7.5x10" Hz
7.5x10° Hz
2.3x10" Hz
2.3x108 Hz

o6 w>

The end




29- What creats a magnetic field?

"Mhui)_[&ﬂﬁ&w‘é\

A. Moving charges

B. Displacement current

C. Both moving charges and displacement current
D. Non of the above

30- Which four quantities do Maxwell equations relate to each
other?

0 suSle ¥ alra Ly il y ) oy Al Sl bl o L

A. Electric field, capacitance, resistance, and inductance
B. Electric field, charge, current, and voltage

C. Electric field, magnetic field, current, and charge

D. Electric field, charge, energy, and power

The end
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